EKTIMH2H
TH2 EMIKINAYNOTHTAZ 2TO XQPO
EPTAZIAZ & EAETXOZ TOY KINAYNOY

OCCUPATIONAL HAZARDS RISK
ASSESSMENT




Tl EINAI MAPATONTAZ KINAYNOY (HAZARD)

 Eival pta ovoia, mapayovtac n puokn
KOTAoTaoN, Tou TiBavwe va tpokaAel BAABN oe
OUVONKEC TpOUMOTIOMOU N acBEvelac,
KataoTtpodnc TOU EpYaCLOKOU XWPEOU, N TOU
neptBailovioc n ocuvbuAOHO TWV MOPATIOVW.

Puokol
XnuiKot ZUVEYXELC
BloAoykol Mn ouveyeic

Epyovouikoi (& Mnyavikoti)
Wuxo-Kowvwvikoi



EMIKINAYNOTHTA (RISK)

» Elvaw n mdavotnta mpokAnong pog BAABNC N
EVOG avemOuuntov cupupavtoc octov EpPY0{OMEVO
oo (ot ovoia i Evav mapayovia,

* ME AMOTEAEGUA N OUCLA i} O MO PAYOVTOC VAl
NIPOKAAECEL AVETILOUUNTEC EMOPACELC OTOV
gpyalopevo.




Ektipnon Emwkwoduvotntog
(risk assessment)

 Elvat n cuvoAwkn dtadikacia tne
EKTLMNONG TOU pEYyEBoUC Tov
rnapayovia Kwvdulvou Kot Twv
EMUMTWOEWYV TOU OTNV UYELQ KoLl
acpalAera, tnc anodpoonc av
TIPAYHOLTL ] OXL O Kivouvoc givat
OLVEKTOC ] aamtodeKTOC, Ao avovtog
urtoPn OAa Ta HETPA TTOU LOYUOUV.



2TAAIA EKTIMHZHZ ENIKINAYNOTHTA2

1. ANAINQPIZH KINAYNOY

2. EKTIMHZH ENIKINAYNOTHTAZ*
3. 2YIKPIzH

4. ENEINXOz

*MEOOAOAOTIA

v NOZOTIKH — peTpROELC

v NOIOTIKH — napoatpnon, CUVEVTEUEN UE
ePY{OEVOUC



ENINEAO KINAYNOY& XOEEE (XapunAoc Oco
EOAoya Eivat Edikto)

Nn OLVEKTO sniy‘/c:Go

[MERIOXH XOEEE

AVSKTO £ilLnedo

\/

Fevika amodekto enurtedo

(ALARP. Source: HSE 1992, Sandra & Rampal)



ENTOMIZMOZ TQN ‘
MHIQN KINAYNOY

E=AKPIBQzH TQN
KINAYNQN EKOEZHZ

EKTIMHZH TQN
KINAYNQN EKOEZHZz

| 1

EnavaYTip non

O0nyiegc ac@PAAOUC EKTEA

) £0NG
EPYOTIWV



R
MEGOAOI EAEFXOY

EZANEIWH NAPAKOAOYOH:H
. MAfRPNC o Teviko¢ MpoAnmtikog EAsyxog Yyeiog
« Ynokatdotoon * Opta EkBeong
e 'EAgyxo¢ BLOAOYLKWV MOLPAUETPWV

AMOMONQzH
o EYKAELOMOC OPIrANQ2zH EPTrAzIAZ
e Anopdkpuvon otnv nnyn (tomwkn

arnoppodpnon) EKNAIAEYZH
e E€aeplopog (yevikog)
e Taktomoinon SHMANSH

e Kowvovecg LUYLELVAG
 Métpa Atopkn¢ Mpootaciog



Example “A”

is better than example
“B” because the
hazard is almost
completely enclosed.

Example “B”

is better than example
“C” because there is
some enclosure and
the fumes are drawn
back, away from the
breathing zone.

Example “C”
offers almost no
protection.

This worker is
slightly less
danger

Floppy doors
close automatically

Window lets
worker see

what’s going on

inside

Canopy
or hood

rhis worker is
breathing
dangerous

vapours







Photo electric screen

Microswitch

S SENS)
ﬂo%"o". RO
s
XKL o

QR
DO 0 )
O
voonowo.’D0> X0

D '@ @A "
%% %%

\

ow%o& :

/’

Two-hand control device



Question: What is wrong with this picture? What is missing? How wil
this situation lead to this worker being exposed to the lead used in the
soldering process? Could this situation also cause his family to be exposec
to lead? How? What suggestions can you make to prevent this situation:

Answer: A solution for reducing exposures to lead in the air from a work
process like soldering is for your employer to set up a local exhaust
ventilation system that sucks the lead dust or fumes away from you. This
will prevent you from breathing in the lead.



Good housekeeping,

as a method of

controlling hazards, °
should be planned

when work processes

are in the design stage, y

not after the factory is
already operating. Sl
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